
Clothing Guard - Fold In Style Side Guard



Clothing Guard - Fold In Style Side Guard
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1160550-NLA NLA - Kit, Guard, Side, Folding, Aluminum, Black -

Small
1 11 A

NLA - Side Guard w/ Edge Trim Assembly, Folding,
Aluminum, Black - Small

1 12
NLA - Clamp, Wedge 1 13
NLA - Clamp, Wedge 1 14
NLA - Bracket, Swing 1 15
Spacer (1/4 x 1 x 17/64") 1 16
NLA - Screw, Socket, Button Head (1/4-28 x 3/4") 1 17
NLA - Screw, Socket Head (1/4-28 x 1-1/2") 1 18
Locknut (1/4-28) 1 110

1160551-NLA NLA - Kit, Guard, Side, Folding, Aluminum, Black -
Large

1 11 A
NLA - Side Guard w/ Edge Trim Assembly, Folding,
Aluminum, Black - Large

1 12
NLA - Clamp, Wedge 1 13
NLA - Clamp, Wedge 1 14
NLA - Bracket, Swing 1 15
Spacer (1/4 x 1 x 17/64") 1 16
NLA - Screw, Socket, Button Head (1/4-28 x 3/4") 1 17
NLA - Screw, Socket Head (1/4-28 x 1-1/2") 1 18
Locknut (1/4-28) 1 110

1160543-NLA NLA - Kit, Guard, Side, Folding, Carbon Fiber, Black
- Small

1 11 B
NLA - Side Guard w/ Edge Trim Assembly, Folding,
Carbon Fiber, Black - Small

1 12
NLA - Clamp, Wedge 1 13
NLA - Clamp, Wedge 1 14
NLA - Bracket, Swing 1 15
Spacer (1/4 x 1 x 17/64") 1 16
NLA - Screw, Socket, Button Head (1/4-28 x 3/4") 1 17
NLA - Screw, Socket Head (1/4-28 x 1-1/2") 1 18
Washer (1/4 x 1/2 x 1/40) 1 19
Locknut (1/4-28) 1 110

1160544-NLA NLA - Kit, Guard, Side, Folding, Carbon Fiber, Black
- Large

1 11 B
NLA - Side Guard w/ Edge Trim Assembly, Folding,
Carbon Fiber, Black - Large

1 12
NLA - Clamp, Wedge 1 13
NLA - Clamp, Wedge 1 14
NLA - Bracket, Swing 1 15
Spacer (1/4 x 1 x 17/64") 1 16
NLA - Screw, Socket, Button Head (1/4-28 x 3/4") 1 17
NLA - Screw, Socket Head (1/4-28 x 1-1/2") 1 18
Washer (1/4 x 1/2 x 1/40) 1 19
Locknut (1/4-28) 1 110

A - Includes items 2 - 8, and 10.  
B - Includes items 2 - 10.  

NOTE:

 


